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OPTION - A
Paper : BOT-HG-4016/BOT-RC-4016
( Plant Anatomy and Embryoloéy)

1. Answer very briefly : (any seven) 1x7=7
el frm ¢ (g arent )
(@) What type of endosperm is found in

rice ? |
9o & 43997 TGS (2Nl TE 2

(b) Where form the embryo gets its
nutrition ?
FAREE e T o A" 2

(c) What are secretory tissues ?
TR FAER & 2

(d) What type of fruits do not bear seeds ?

& @R Tm e AR A R TE 2

(e) Who proposed ‘histogen theory’ to
explain shoot optical organisation ?
FeF QNG 5154 FiR AR (FOA RBCEA TF

(H What is the significance of cambium ?

@FrarR sleod & 2
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(g/ Write tne name Ol UsSSuc Lhnat nNelps
hydrophytes to remain floating ?
GG CiEM (@ [/ 1K "\5‘?ﬂ7.ZI—<I M 21
eofe A 2

(h) What is quiescent centre ?

g @m & 2

(i) In which tissue stomata are located ?
AITG (FFRY e AR TR 2

() What is tapetum ?

oo & 2
2. Write briefly : (any four) 2x4=8

S Fi ¢ (faciean sif<on)
(a) Polyembryony
SESRI)
() Double fertilization
(c) Hydathodes

A

&6
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(d) Annual rings

Pl

T3
(e) Casparian strip
SreARaE 2ot
() True and false fruits
AT T WATS T
(g) Phylloclade

(h) -Heterofertilization

o~ ~
fed =040

3. Answer any three of the following :
| 5x3=15
oo GEd A e [Sfne Te T e

(a) - What 1s self-pollinétion ? Write briefly
about " the advantages - and
disadvantages of self-pollination.
w_o@edlsl 7 2 F-oREranE TASIS! I
TeEEer Tara vIeE A
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(b)

(c)

(d)

(e)

(9)

(h

Write briefly on heart wood and sap
wood.

Y S IAIIR] Y A2 53 =121 |

Describe cellular endosperm with neat
diagram.

AR Bawiz @G e ST TG |

Write the difference between |
meristematic tissue and permanent
tissue.

CIGE T SR 2 TR e e

Write the difference between apomixis
and parthenocarpy.

QoPRIfRER TR e Tod e 21 & |

Write on microsporogenesis and
microgametogenesis.

ARG T 3T (FEE FRra e |

Write on cork cambium and vascular
cambium.

% (TR S AW (FARAER Tac@ & |

Write the tissues responsible for
providing mechanical strength
(support) in the higher plants.

W@W*ﬁmﬂﬁ?ﬂ“ﬂ’ﬂaw
fagca &4
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4. Answer any three of the following : |
10x3=30
oo fral farereen forara Tea = s

(a) What is megagametogenesis ? Describe
in detail  the structure and
development of tetrasporic mature
female gametophyte.

TR Te @] [ & o2 QiErsids
TR bOTARY BAFAR ol T R
g Iz=is =

(b) What do you mean by tunica-corpus
theory ? Describe various theories
relating to growth and development
in the stem apex of higher plants.

| | 2+8=10
ez ©g I & 3@ 2 TH T
FeI el TeE Ja R RIre aite
TEATR R frar

(c) Describe in detail about secondary
growth in dicotyledonious stem with
neat diagram. 2+8=10
Afzer Sanz G-<rEral Tlewl Feg (5d g—lh%m'
IR Al F_hM
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(d) What is apical meristem ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10

Tz ST Fal & 2 A9 Sfegnd T
SISreiei Si5, g Tk Rl T=rE s
TR Ik Tl |

() What is cross-pollination 2 What are
various forms of it ? Describe each of
them briefly with examples.

2+2+6=10

Toq Aaeran & 2 TR [ea @ 3 iR
& 2 Twrzara Ces 2l BCE I 41

()’  What are the components of vascular
elements ? Describe any one |
component of vascular elements.

‘ 2+8=10
R CAWEE AR OO AR
ToAMEE Rl @ff THik<R et =41 |

(g9 What is meristematic tissue ? How are
they classified ? Write briefly about
them. 2+2+6=10

siEs = & 2 WR qRerm (@FEeE 90
7d 72 AToTd [QACd T =il |
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- (h) What is permanent tissue ? Describe
different types of simple tissues with

neat diagrams.
ZEl oA & 2 foang fien o=@ 7we F9k
Zel Tl |
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OPFi1lUix — 2
Paper : BOT-HG-4026

( Economic Botarny and Plant
Biotechnology )

1. Answer the following : (any seveny
' 1x7=7
R AR ©@R W@l ¢ ([ Ares)

(@) Who first proposed the concept of

centre of origin ?

- i ' e ., <
TR21GA (X ZE ¢ GiRCl UYUCE (Bl

= &
SeEavies ?

(b) What is the scientific name of
soybean ?

ez (@@ih< | i ¢

(c) Storage tissue of leguminous seed is

known as

TS T AT (@ —— (2o Tl
T |

(d) Gram belongs to which family ?

Z5E (SR (SIE] TEAS 7
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(e) Which part of the black pepper plant is
edible ?
GIEE @ (RS S (ARR T2AAET 2

() Write the full form of RAPD.
RAPD F=j¢| =Ii=I(o1 (=11l |

(9) What is androgenesis ?
A 2

(h) What is micropropagation ?
TR & 2

(i What is ' DNA marker ?
DNA T4 f& 2

() What is hybridoma technology ?

— ~—~ ~~
ST s AYE < ?

2. Write briefly on the following : (any four)
2x4=8

Loy

G

~—~ - [
TarTIR e7iRe bl =10 8

(a) Chemical constituent of soybean

saEeE IHAEAEE SidA
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(D) LECONOoImMiIC UusScs 0Ol glalll

oA TLGTes AR

(c) Embryo culture

JeTE]
(d) Recombinant DNA technology
DNA sz SfRest (i

(e) Reverse transcriptase

oIS Grfeioe

() Morphology of cotton plant
TG TEd RBRE

(g) Gene therapy
faa el

(h) Down syndrome

Tiga fHag
- 3. Write short notes on the following : (any
three) , o%x3=19
e AR eos 59 R Bl e (R
o) |
(a) Origin and morphology of wheat
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uses of groundnut

IMER AT o7 BN LAROF ARZR

(c) Morphology and uses of black pepper

TERR CIEIRE] Wk JRLIAD
(d) Processing of tea

5|-<i 21'\_,:5\3;1'2:(‘.]. ?.ii.ﬂzﬂ. [

(e) Scope of biotechnology

TRAYERTR A=
(f) Application of embryo culture
SCFEGE AT

(g DNA fingerprinting
DNA T'_ Im—al A

(h) ELISA technique

ELISA &3l
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4. Answer any three of the following :
10x3=30

TR 24 fareeen fofatie e A ¢

(a) What is meant by centre of origin ?
Write in detail Vavilov’s centre of origin
of cultivated plants.

Terifen (@Fmza I [ gl ¢ cifime i
Tiewa Teoifer @mze A= {Fg ©ga [em e
izl

(b) What are legumes ? Write a general
account of legumes with special
reference to gram and soybean.

Tt «y fF 2 9o T591g TR 5aiiae &{r<ig
TR TaRiEred e fagad i |

(c) Write the scientific names, families,
parts used and uses of the following :

(i Clone

(i) Cotton

OeTE ﬁ‘ﬂ‘j?{ @i A, (siE, JEgd L
TR TR &1l 3

N

(i) TAZ
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(Uj L//ColLllue 11l VIUL U pJAalllivwady o vl

androgenesis.

2 Beoted Flaw AmforATz 3 =4

(e) What is gel electrophoresis ? Describe
the techniques of southern and
northern blotting. '

ATRCNEe 31'@??]. < Cff“‘:l"lﬂ'f-r‘[‘. 3 Jele) =4 |

() -What are monoclonal antibodies ?
Describe the basic technology for
production of momoclonal antibodies.

TEEE AFRRER & 2 wEeE afeais
T e e ALERGICOR q6 1 |

(g) Who invented PCR technique ? What
are the requirements of PCR
technique ? Write about the
application of PCR. 1+2+7=10

PCR *%fe (it WiRER IR% ? PCR
smfer SEeEmera” & & ? PCR <
AR JEc =
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(h) Describe the steps involved in DNA
sequencing. Write a note on the
application of DNA sequencing.

DNA Baaiees Ties (APAREER 34 T |
DNA 53l 1 acaieR es/[ae ait (ol =3 |
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